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Proposed Method – Word Embedding Loss
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vocab = {I, am, a, politician, <eos>, <unk>}

trgi = “stateman”
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Experiments
:
B<: ASPEC(Ja-EN) / IWSLT17(En-Fr)
D@E: Attention EncDec (Luong et al., 2015)
>
<� c­: 20000 words
�Ks�: BLEU / METEOR
�c�m�_: word2vec

English: Google News dataset (pre-trained)
French: Wikipedia (train with gensim)

Results about ASPEC by BLEU/METEOR

Results about IWSLT17 by BLEU/METEOR
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Example in ASPEC
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1. dlS|'�+i4�  (on ASPEC 10000 words)
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2. v%,c­#'§e} (on ASPEC 1000 words)
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3. `c�&.NIV (on ASPEC&IWSLT 10000 words)
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